Vidya Vikas Mandal’s
Shree Damodar College of Commerce & Lconomics Margao Gou
£.Y.BBA(FS), Semester 11, Semester Lnd Assessment, Repeat October 2019
BFS CC 8: DATA ANALYSIS AND QUANTITATIVE TECHNIOUES
Total Marks: 6U

Duration: 2 Hours
INSTRUCTIONS:

£, Figures to the right indicate maximum marks

i1 Start each answer on a fresh page.

[l All questions are compulsory

iv. Noun scientific, non programmable calcularor allowed.

V. Graph paper will be provided on request e

{. Attempt the following [6x2=12 marks]
A. Fit a linear trend for the following series. Estimate the number of production units in

2012

[Year __[2005 2006 T [2007 2008 [2009 | 2010 | 2011 i
' No. Ol 133 135 | 140 | 141 143 |
| production unis . ; ot

i, Find the Laspyere’s, Paasche’s and Fisher’s Index number for the following

i Commodities Base year Current year

{»ﬁ_? e Price Quantity Price Quantity |

T - 90 10 70 T 4

L g 80 4 30 2ok e

170 40 60 | 90 |

BTG RO, 30 40 130
OR

¥ Obtain the trend values of the following time series by taking the period of moving

average as 4 years. Also plot the original data and t

he trend values on the same graph

{j@? 12005 2006 | 2007 | 2008 2009 | 2010 | 2011 | 2012 2013 [ 2014
Producti | 2412 2440‘2486 3424 | 2420 | 2405 | 2486 | 2502 | 2510 | 2500 |
! i RIS DRI O S et s '

Y. The average annual earnings of BMC officers were Rs 1,40,000 in 2016 and Rs 2.00.004

12017, If the cost of living price index increased from 210 in 2

i The real wages of the BMC officers in above years

016 to 340 in 2017. hind

i The increase/ decrease in the real wages during these two years

i, The percentage increase/ decrease in the wages duril

]

1g this period.



2. Attempt the following [6x2=12 marks]
A The following table gives the number of hours a set of 6 students have studied and thewr

Ilhlll\b out of 5 in a unit test. Find Karl Pearson’s umltluux tol mndatmn and comment

Studied in |5 + 2 5 3 6 ‘.
hours (X) | R L SRR T
[Marks(Y) [5 |4 I ;SR TR T

13 There are 15 tickets bearing numbers from 1 to 15 in a bag. One ticket is drawn trom bag
\ random. Find the probability that the ticket bears a number which is even or a multiple
k)I‘ 3.

OR

X, Use Spearman 'S Immula (o find correlation coefticient for the following
R~ 3 5 7 “_< 2
R 2 7 4 5 8 SR

V. A problem is given to three students A, B. C whose chances of solving it are 2. 1/3 and

Vi respectively. Find the probability that the problem is solved.

3. Attempt the following [6x2=12 marks|
A. Taking smaller year as the base year,, nd Index number for the following using
I Simple Aggregat ive method
I Simple average of price relative method
i T Edible oil K Price per litre ;k
L 2010 | 2015
\ Su nl]u\\u o4 120
| Palimn - 72 140 Y
| Coconut | 80 160 e
| Groundnut___ v 100 e
T A S R I S T R

{4 The following is the data set of new car registration in town A. Using 5 yearly moving
averages [ind the trend for the data. Also plot the original data and trend values on the
same graph.

Vel 72003 | 2004 | 2005 | 2006 | 2067 | 2008 [ 2009 | 2010 1—7""' 2012
No. of 1011 | 1193 | 1125 1008 T 1119 (0126 7990 T)O(ﬂ 1304 | 1670
registration || et Mo ., N SRS, } _ | l

OR Rt

. For the tollowing data. find the weighted index number using

i Weighted Aggregative index number
il. Weighted average of price relative index number



| commodities Eﬂ(:\ perkg Weightage w |
e o Lo L GRS |
e NS N |- Y S |
otato |16 124 A
| Cauliflower 126 |2 Pl S A
| Cabbage 13 : T Tl
|

Greenpeas |40 |60 | -

Using three yearly moving averages determine the trend. Plot the original data and trend

values on the same graph
| Year | 200812009 |
[ Value | 121|120
4. Atterupt the following [6x2=12 marks]
A, Define the following terms
i, Independent events
ii.  Mutually exclusive events
iii.  Exhaustive events
iv.  Equally likely events
v.  Impossible and certain events

vi. Complementary events

3 Tor the following data find,
i The coefficient of regression
ii. The coefficient of correlation
il The equations of lines of regression

~
Nwr'
=

Ng The probability that @ person will react 1o a drug is 0.001. out of 2000 individuals
7 checked. find the probability that

L. l:xactly 3
il. More than 2 individuals get a reaction

~ 3 -
Take e“=0.135
V. Two regiession lines are given below:
ke fdenuly tie regression lines and state coefticient of regression

il. Find the coefticient of correlation

6x+5y=50 and 10x+3y=62



At

-

X, [

V. A card is drawn from a well shuftled pack of 52 ¢:
drawn is

Ior the following biv:

Atlempt the following [6x2=12 marks]

What is scatter diagram? Explain types of correlatjon using scatter diagram.

Define regression.
In a certain city there IOOO¢ electric bulbs were used f
ol bulbs is 1000 hours with standard deviation of 2
expected to fail

or street lighting. The average life
00 hours. Find the number of bulbs

I In first 800 hours

1. Between 800 to 1200 hours
TR R TR 1 R e it I
[P ‘f'mm[@f"i}f‘i__“m:_"_:.[:Q-_»ﬁ??mw _[o4987 ]

artate data with given values of mean variance and covariance. 170
il byx, by, and r
the equations of lines of regression

the value of y when x=2 and

value of x when y=(.5

ards. Find the probability that the ¢qu

[. a diamond

[1. ared card

L. a king

IV, dnace or a queen
V a face card

NI

1 card bearing a number between and including 2 and 6
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